



اسم: _____

التاريخ: _____ النتيجة _____

$$\frac{5}{3} + \frac{2}{7} + 1\frac{1}{2} =$$

$$\frac{5}{9} + \frac{7}{9} + \frac{2}{4} =$$

$$\frac{5}{9} + \frac{2}{7} + \frac{2}{4} =$$

$$\frac{1}{2} + \frac{2}{5} + 1\frac{1}{3} =$$

$$\frac{3}{7} + \frac{4}{9} + \frac{5}{4} =$$

$$1\frac{1}{4} + \frac{2}{4} + \frac{1}{9} =$$

$$\frac{3}{5} + \frac{4}{5} + \frac{2}{9} =$$

$$\frac{7}{3} + \frac{3}{6} + \frac{3}{4} =$$

$$\frac{2}{3} + \frac{4}{6} + \frac{1}{7} =$$

$$2\frac{1}{3} + \frac{5}{8} + \frac{4}{2} =$$



اسم: _____

التاريخ: _____ النتيجة _____

$$\frac{5}{3} + \frac{2}{7} + 1\frac{1}{2} = \frac{145}{42} = 3\frac{19}{42}$$

$$\frac{5}{9} + \frac{7}{9} + \frac{2}{4} = \frac{11}{6} = 1\frac{5}{6}$$

$$\frac{5}{9} + \frac{2}{7} + \frac{2}{4} = \frac{169}{126} = 1\frac{43}{126}$$

$$\frac{1}{2} + \frac{2}{5} + 1\frac{1}{3} = \frac{67}{30} = 2\frac{7}{30}$$

$$\frac{3}{7} + \frac{4}{9} + \frac{5}{4} = \frac{535}{252} = 2\frac{31}{252}$$

$$1\frac{1}{4} + \frac{2}{4} + \frac{1}{9} = \frac{67}{36} = 1\frac{31}{36}$$

$$\frac{3}{5} + \frac{4}{5} + \frac{2}{9} = \frac{73}{45} = 1\frac{28}{45}$$

$$\frac{7}{3} + \frac{3}{6} + \frac{3}{4} = \frac{43}{12} = 3\frac{7}{12}$$

$$\frac{2}{3} + \frac{4}{6} + \frac{1}{7} = \frac{31}{21} = 1\frac{10}{21}$$

$$2\frac{1}{3} + \frac{5}{8} + \frac{4}{2} = \frac{119}{24} = 4\frac{23}{24}$$